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(c) We first prove the following three properties of { Prk ) )
.  

i

( PL ) Hoshi
,

IT Prksdz  =L

I P2 ) 7- KEIR s .  t . to era , IT
,

lprlzildz

Ek
I P 3)

Voss
sit

. fine. I

lprkildz
= O

SEKI SIT

Proof of IPD : IT Prksdz = IT, II.r
'  " ein  ) dz

= ¥ IE r
" ' eimdz I by absolute convergence of ¥

, f II. Ir " '

e'
 ' Hdz)

= It
,

dz C- : tinto
, fine "  ' da  = o ) =L - #

Proof of ( P2 ) Note that Prk ) = Iw⇒ 70 for  all of Kl

and - EZE IT

i. Choose K =L
,

then ( PI ) implies IT
,

lprkildz =L = k - I #

P root of 1133 ) For  each

0484T
,

let Csis I - cos

8>0
,

then

I - 2r cos z + r
'

= ( I - h 't 2 r ( I - cos z ) Z Ot 2. ( I - cos D= Cg SO

there I
,

SEKI ET
. .

: I

Prest
Ell - r

' ) . Is

c

'

. tiff ftp.fz.HPrksldz E t.IT. # Xi- ri 's ) . zits ) = o - #



Proof of trim frm =  TH ) it f 13 continuous  at x :

Given E > O , by continuity of fat x
,
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Rink : I I ) (Pl ) -
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) says that { Prk )3r→

,
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which in particular ensures  that (c) is true
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(2) Dirichlet kernel { Dark) ) n  →  as
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In fact
,
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Therefore
,

estimate in I fails
,

unless f has some decay condition at x

e.g .
f is Lipschitz  continuous at x
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